EARAZROREIERT — 2 N—XBISY —F 2019578 31H (k) 7EIXFH4H

7%')7’7@1—9—)”]‘/%" C3=m #7%—H% ‘[ﬂi}ﬂﬁ ‘Béiﬂélasﬁ] — | & (&) 12000 FaE
[A&4£] 17 :800,000 3 ~ 23#&:320,000 3 ~ 33#:200,000H . 47#&:120,000 M 5 i :80,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N KEHEZ 4. —~ . - | (KHF)
11112 X|7_r77 (N4 H o4 56.OE 1(1_4)9 7-6 38.5 2 (4_793) il
R:O—-KpFA7 Bily Kyv>Fib ZRANT 7 — L
3 BEE 114, = . — HEBLZ (KH#H)
2 6 DI/ R XE— it 6 54.0 1(71‘::? E i & (4:41) KEIEH
R:ZRNAF21—)b BT /7T RFH RO
IS5 o6 | HllBR 1:14.9 6-7 38.6| — 7 486 |HBEZ (KH)
3|7 |14 37170 -~ 56.0 (757) () | IR
L.n-xI>JU> B:Tavuxvy/NF KEB
= : 4t 4 | MRS 1:15.1 8-9 38.6| — 6 513 | =ER (kH#)
4 5 IXAZILR 54.0 (1 1/4) *+2) KEF
R:hxex) B:ozllhLFxvy b BRI77— L
N —i Hi5XH :15. - . — ERER (KFH)
N BESE o | o | e e || @ |gEE
L xa—-y>iO0—-xX B:d—-NLKRI>T1b BINZ T 77— L
o s - KARKH :15. = . — BRE (KH)
N . RESPZIT = A oy I O 0o | mEE-
AN w1 =T BRCFaH-IL e
=07 # 5 | HIE 1:15.4 1-1 39.9| — 1 486 | KEZA (K3H)
71713/ 2HZ72 07 56.0 (7€) (-1) |HIILES
LHIRTATIR B:ahIN—IN— KT 7 — I
INFRFRER : - — FIME (KH)
8l5lgl LY Ny -~ 6 it 1.(115).6 9-11 38.9 10 (::;) gl
R:THAFALANE BiACTRI(LY PNie ]
N R LHfEA :15. — . - A= (k)
oz vanue o by | e [me) - e | @ | BERS
g/ F¥LLy b B:INETa =Y Ty—LA
. L [ # 5 | BHR 1:15.9 15-15 [ 38.2| — 14 | 484 |HEAMF (1)
1wPlg|7V—KIv R 56.0 (3/4) (-3 |HEBF
R:HTIRTAY BXRAIE A HFAYREy K
; 4 g | HEKE 1:15.9 14-14 38.5| — 16 459 | HAAR—FK (K#H)
11510 NV HE 4530 NF) o | =BEX
L:FUr—r7r B:x3H RS
5 # o6 | IEOBE 1:15.9 15-16 [ 38.2| — 13 | 470 |/MNBFFEE (I
12/8 15| * 7 A b 56.0 (75%) 7 | ) Jraara—FyaFi
L:gr—3I)T7> B:I)—-NLEALF— [sd=te]
N 4 6 | EEHEER 1:16.2 11-12 [39.3| — 11 467 | HEAR—K (KF)
13ff 12| 7/3/33A 54.0 (1 1/2) Lo | ) BEER
LNAT ==L B:oF I Th J=RH—F
o BEANIRE :16. = . — RN (KFH)
14 4| 77 -2 brFY2 S RR7 T I e PG |
R:T7HIHXL T BEED BRI
= = t o7 | EHE 1:16.7 3-5 40.8| — EERIK (KH)
151816/ E7/Z7>=27 * Reqo 1 o ?_639) ) YR—2
L:T77ZAVIT7 B:X=NN=FF 57— hEE A
NV R 4 4 | DOEEFNIE 1:18.7 13-13  |[41.5] — 12 447 | BAEE ()
161 1| YFANIKY 54.0 (10 3 | HEE—
R:24—1)>5A-X B:TS5FFH—I A AR
® I —F—@EBIERL
13—7—
23—7F—
30—7+— 13,4,16,3,6,14,2,5,(7,9) ,12,11,1,10, (8,15)
4=1=Ch— 13,4,6,3,16,2,14,7,5,11,9,12,1,10,8,15
[ RN
B OB 2 540M 714K 2-6 490M e & 1-3 830M &R 2-6-14 3,570
7 B 2 190 2-14 820M | | # B 1-3 1,560/ | | 3&E 2-6-14 14,660/
6 190M 6-14 900M B E 2-6 1,290
14 330M B H 2-6 2,430M

ABICOVWTRDTEEERROODE. TR LIV,



